
����� 4 

��	
��
������	
���
��
��� 

���������������	����������
�   

  ��������	
��
�������	����	������������  �����	������������������������ 46 �  !"��
��#$���
��������%$��
��&������'()������&���&���*$
�	+)��$,)������������(��	��)�-�&�����.�$-��
/���(	0��*%��	()&����/��%��1�	/(��-�)��������+  !"�������(����	�(������$���0)���	 ���/�	���21�	
	������$���	31���	���0�)��� -��1�	���/�	���2
4�*%�����*1-�����5"�'��/��%��
���	()�"6$ -��
/����5%��(7�	��-	�0�0)� $��$-/)����	��������)��	������,�	�/
��1�/����5)�	%$�0)�)�  -���������
	������������
�����	�������&�����!"����#$	���������
����	
��/�) (������ 34.25) 1�		���(�&���%2
&���/����$72��.6����$�����	���������&����������� 43.8 1��%3$%$���(���&�����.�$ $��$-/)���������
&�����$��1���/��$
4�*%���,�	�/��%$�*$&�����.�$0)���		���������.�$ �������? /5�$�&���&��� 
14�$�$/���(	*$&�����.�$ -�����0)�0����&���/����$72	��'�	��)�	%$� (����� 6) 

�
�
� 6  14�$�$-�����������	������������ 14�-$	�����	
��
�������	� (n = 400) 

��	
��
�������	� 14�$�$  ������ 
��? 
        ��� 
        %C(� 
���� (� ) 
       $���	��� 40 
       40 D 49 
       ��		��� 49 
       (Χ = 46, S.D. = 10 , min = 23, max = 66 ) 

 
188 
212 
 

103 
160 
137 
 

 
47.00 
53.00 

 
25.75 
40.00 
34.25 
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�
�
� 6  (���) 

��	
��
�������	� 14�$�$  ������ 
/5�$O��&���&��� 
       %��%$��&���&��� 
       &��/��/ 
       �.�$ + 
��)��	��?"	
� 
       0��0)����	��?"	
� 
       ���5�?"	
� 
       ��7��?"	
� 
       /��	�����7��?"	
� 
����� 
       0�����	������� 
       &����� 
       ���1��� 
       7��	(1/��$��� 
       -�����$ 
       ������	��/��Q�(/�%	(1 
       �.�$ + 
?�/$� 
      ��
7 
       �(/��� 
14�$�$/���(	O��*$&�����.�$ 
       1 D 5  &$ 
       ��		���  5 &$ 
       (Χ = 4, S.D. = 1 , min = 1, max = 20 ) 

 
212 
160 
28 
 
8 
145 
140 
107 
 
7 
137 
122 
63 
45 
11 
15 
 

374 
26 
 

323 
77 
 

 
53.00 
40.00 
7.00 
 

2.00 
36.25 
35.00 
26.75 

 
1.75 
34.25 
30.50 
15.75 
11.25 
2.75 
3.75 
 

93.50 
6.50 
 

80.75 
19.25 
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�
�
� 6  (���) 

��	
��
�������	� 14�$�$  ������ 
���0)����������&�����.�$O��*$ 1 �).�$ 
       3,000 D 5,000 
       5,001 D 10,000 
       ��		��� 10,000 
       (Χ =18,691.75, S.D. = 13,785.29, min = 3,000, max = 95,000) 

 
24 
121 
255 

 
6.00 
30.25 
63.75 

 
��	 !�	
�"��#	����	
���
	$���%&�   
  ������������	
���
��
��� 86.00  �����
�������� �
������	���� ������ �����
���	���
� � !
���"#�$

����������%&������'(
�)�*+$

���,+�  �������	
���
��
��� 87.25 ,+��*�
��-�
�����

��������	���
� � !
�����'�����#���,+�	��'��,+��*���-�
���	*!
���
�����

�����
���	���
�.�+
	���-�����	/�����	�������# 4 D 5  ��	  ���
������(��� 1 ��
(���	 .���������	
���

��
��� 90.75�-!7(������������(�*�	#���	���
� �����'�����#���,+�	��'���������	*!
)�+% ���
�
���
	�� 1 ��	 .�+
	���-���
�����(�*�	#��8������#  20  ��	 (��$��  ����, 2541) �
�&���-8��
7(
-�
	���������	
���
 ��
��� 28.00 ������������# 3 D 4 	����
���+��> /+���
��� 50.75 &�7(���������
�	�����
��� � !
��?�)�	
�	���-!���

����*� &��$�
���$��
����@�������(	��7�8��-!�$���A(�����
��+��B���
�
�-���
�A��
���&@��	���� & 
�	��-����@��	&�	��)��)��$

�����.�����C �7�!

�����*�D�����E

���.���@�&�+��� (����
 7) 
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�
�
� 7  14�$�$-�����������	������������ 14�-$	��������	
��	��/���	�-��	�����	R���%$� 
(n = 400)   

��	
��	��/���	�-��	�������� 14�$�$ ������ 
�%3$����
��%$� ����S//���%$� ���%$�  O��*$%�.���(���
&�����.�$ 
     -  �&� 
     -  0���&� 

 
 

344 
56 

 
 

86.00 
14.00 

0)��($�/���%$�����O��*$%�.���(���&�����.�$ 
     -  �&� 
     -  0���&� 

 
349 
51 

 
87.25 
12.75 

�%3$%$�O��*$%�.���(���&�����.�$ 
     -  �&� 
     -  0���&� 

 
363 
37 

 
90.75 
9.25 

14�$�$��$
���%3$%$� 
     -  ������  1 D 2 ��$ *$ 1 /��)�%2 
     -  ������  3 D 4 ��$ *$ 1 /��)�%2 
     -  ������  5 D 6 ��$ *$ 1 /��)�%2 
     -  7  ��$ *$ 1 /��)�%2 
     -  0���&��%3$ 
����
�����%3$%$�   
     -  	�����$ 
     -  	���&.$ 
     -  	�����$-��	���&.$��+	�$ 
     -  0���&��%3$ 

 
87 
112 
100 
64 
37 
 
44 
203 
116 
37 

 
21.75 
28.00 
25.00 
16.00 
9.25 
 

11.00 
50.75 
29.00 
9.25 
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  �����*$���� 6 �).�$
��'��$���*!
$

��������
(�*�	#���	���
����'�������+��
��� 
59.00  ���)*������	���
����'�������+ ��
��� 9.50 .��,��7(D���F	��-!�F	�+�	�/���-!�-�����?�������
��� (����
 8) &�����	����8
�*!
$

�����	���
�.�����)*������	��
�-/
����-!&�'�������+ 

����� 8  &@��	�.����
���$

$

�������	
���
 &@�.��������,+���(�	����-����&����� (n = 400)   

��� ,����� ���,+���(�	����-���� 
&@��	� ��
��� &@��	� ��
��� 

��)�	
 6 �+�
��-!D������*!
$

�����
���
(�*�	#���	���
����'�������+ 

 
236 

 
59.00 

 
164 

 
41.00 

��)� 	
  6  �+� 
��-! D� �������)*���
���	���
����'�������+ 

 
38 

 
9.50 

 
362 

 
90.50 

��)� 	
  6  �+� 
��-! D� �������)*���
���	���
�,������F	�+�	�/���-!�-�����?�
������ 

 

 
0 

 

 
0.00 

 

 
400 

 

 
100 

 
�������
)�	
�	*
��+%&����	����������
�   

  ���������&&�(���������	
���
��
��� 74.75 �-����@�&�+�����������	���
� � !
��?����
�@�&�+������	�����
��� ��
��� 70.25 .�+
	����
�-(�
���	���
��-!��
,�����)�	
�	���-!������������
�@�&�+���  �������	
���
��
��� 50.50 ��� �@�&�+���/+��)����(�!
���)�*+

�H�I*J)�� � !
����)�������-�-8
������@�&�+������&�,+�D��7-�
���8
.��%������8� .������*�I*��7$

������-.����)�*+�-��#��7�-!
.�����
��� & 
,�������'���,+�	������@�&�+���.�������8
,+�D����
,���7-�
�+ ��&&�(��7(	������)�
������-�@�&�+���)�*+

�H�I*J)����
�
,+���(�	���*����
��+ ��
��� 25.25 
�&��?��7���	�����&�+�@�
/��
����E

���.���@�&�+���$

��A(�������+��B� �)�	*I-.&�������-�@�&�+��������(���)�)�
+�	� �@����
�����
����@�,��)��7���,����

,���8
�� ��	�����)���
+�����.��	*I-
�!����!
���-�(��-�(
&���-!����)���(����&&�(��7(	��,+���(�	���*����
� (����
 9-10) 
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�
�
� 9  �������(7�	��	4�1�)%$����	������������14�-$	�����	
��	��	4�1�)  

��	
��	���R(���( 14�$�$ ������ 
�S11���$��	��	4�1�)%$�O��*$&�����.�$ 
     -  	4�1�) 
     -  0��	4�1�) 

 
299 
101 

 
74.75 
25.25 

	4�1�)%$�*$��������   
     -  	�����$ 
     -  	���&.$ 
     -  0���&�	4�1�) 

 
18 
281 
101 

 
4.50 
70.25 
25.25 

�(7�	��	4�1�)%$�*$�S11���$ 
     -  	��)�	%$� 
     -  	��)�	%$��$()����� 
     -  ����.��%$��$()���
�$
� 
     -  ����.��%$��$()0����
���.�$ 
     -  	��)�	%$� 
     -  *��-��1��%$� 
     -  *��/�$��1��%$� 

 
81 
25 
43 
101 
28 
20 
1 

 
20.25 
6.25 
10.75 
25.25 
7.00 
5.00 
.25 
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�
�
� 10  �������(7�	��	4�1�)%$����	������������14�-$	����(7�	��	4�1�) 

�&� 0���&� ��	
��	��	���R(���( 
14�$�$ ������ 14�$�$ ������ 

	4�1�)%$�)���	��*��	��)�	%$� 200 50.00 200 50.00 
	4�1�)%$�)���	��*��	��)�	%$��$() 
�����   

 
110 

 
27.50 

 
290 

 
72.50 

	4�1�)%$�)���	��*��	��)�	%$�   141 35.25 259 64.75 
	4�1�)%$�)���	��*��-��1��%$� 121 30.25 279 69.75 
	4�1�)%$�)���	��*������.��%$��$()���

�$
�   

 
119 

 
29.75 

 
281 

 
70.25 

	4�1�)%$�)���	��*������.��%$��$()0�
���
���.�$ 

 
202 

 
50.50 

 
198 

 
49.50 

 

��������	 !���	 !�/0��"��
���������
1�����	����������
�   

  �����	������������ ������ 63.00 ��
��������?����#$%���-5� !"��1�		��/4���1�����
��	
��,)�
���0����%���-5���	��/(�����%�.�	�����
��0��0)����	��	4�1�)*%��%3$ 
��������?�����	����
�������� ������77.75 �-)�

��
�������$��-

�,+� !"����#$����
��*%�%$�����-��	0)������/�)�	 5��
������14����$ ������  87.50 0����U��V)�()�() 
4�*%�%$�/����5����0�%�	($0)�1�	5�����*$
&�����.�$ /(������+�%���$�6/���/�(�	��������%�	($���%$� 1"�&����	��/����1(�/4�$"	*$	����������
/O��-�)����
�6�*$-��$�	&�����.�$*%���/O��
��0����.6����	�����������%$�  (����� 11)  
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�
�
� 11  14�$�$-�����������	������������ 14�-$	��������	
��,&��/����
��������?�� (n = 400)     

��	
��,&��/����
��������?��-��/(��-�)���� 14�$�$ ������ 
 ����O

��������?�� 
     -  ���$�)���� 
     -  %���-5� 
     -  ����2
���$
2 
     -  �.�$+ 

 
129 
252 
9 
10 

 
32.25 
63.00 
2.25 
2.50 

 ,&��/����
��������?�� 
     -  
4�)���0�� 
     -  
4�)���&�$	��� 
     -  
4�)���0��-��&�$	��� 
     -  �.�$+ 

 
51 
173 
174 
2 

 
12.75 
43.25 
43.50 
0.50 

 
��������?��������
��*%�%$�������	0)� $�	1�	�����%$������  
     -  �� 
     -  0���� 

 
303 
97 

 
75.75 
24.25 

 
��������?����5��������14����$ 
     -  ��5�����
��0����U��V)�()�() 
     -  ��5�����
����U��V)�()�() 
     -  0����5����� 

 
350 
11 
39 

 
87.50 
2.75 
9.75 

 
   
 

 

 

 

 

 



 

 

45 

���	
���
�����������������������������������
 

  7(	���������	
���
�-!
������
&��.���

�������
%$

�����?�������
,����*� 30 
���� �-����(���8@���?�.���

�����-!
�������A�-,����*� 30 ���� ����-!��+ (��
��� 88.25) �

�
�� ��
 
'�
$����A(�� �

$�� ����$��
���� .�����+�+ (��
��� 52.75, 40, 38.25 .�� 10.00) ����@�+�( 
� !
��8
 4 .���
��?�.���
�-!�-A�����7�����?�.���

����$

���,+�  .��7(	�����	���
��-!
������
&��
'�
$����A(�� ����(���8@ � �

$�� ����$��
���� .�����+�+ ����'+�����,+�  ��
���  
84.83, 80.62, 79.32, 75.16 .�� 22.5  ����@�+�( (����
 12-13)  )-8�������	�����	���
��-!
���������('�

$����A(���-/
���+�����,+�����-!��+ 
�&��?��7���'�
$��������

��($���-,���7-�
7
 �@�����-
$�����'�
������?��

$�� ����
(��(D����+������-!,+�7(	����?�����
�>�	�>����-!��+ � !
��?�����-!
)
(���*�����

$�� ��	����	���
��-!
���������(���+�+�����'+�����,+���
��-!��+ 
�&��?��7���
�����+�+�-
�������������*�,+�
���
�7-�
7
 ����
(��(�����+�+��
�-
����#>���
����!

�)�
�@����(���$��� !

����#>(�

���
��������'�)���?��-!�@����(7��
�A��,+� �)�� ���

 ���
��
���
% �-!
	�
,	�,����?����(-�( ���& 
,���$��,����*�(�*�	#���	���
�& 
+�����,+���
�  ��	����	���
��-!
������

&��.���

�������������
% $

�����*� 30 ���� &�+�����,+���
�
�&��?��7������	���
�
������

&����A�-���

����*�$

��� 

����� 12  &@��	�.����
���$

�������	
���
  &@�.������������
&�����	���
�' 
.���

���� 
                   ���������
%$

���  (n = 400) 

,����*� 30 ���� ��*� 30 ���� �������
&������	���
�' 
 
.���
������
�������
%$

���   &@��	� ��
��� &@��	� ��
��� 

���	��
���	���
���('�
$����A(�� 211 52.75 189 47.25 
���	��
���	���
���(����(���8@� 353 88.25 47 11.75 
���	��
���	���
���(�

$�� 160 40.00 240 60.00 
���	��
���	���
���(���+�+ 40 10.00 360 90.00 
���	��
���	���
���(����$��
���� 153 38.25 247 61.75 
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����� 13  &@��	�.����
���$

&@��	�����-!+��,+� &@�.����������������
&�����	���
�' 
.���
   
                    
�������������
%$

���   

+�����,+� +�����,��,+� �������
&������	���
�' 
 
.���
������
�������
%$

���   &@��	� ��
��� &@��	� ��
��� 

���	��
���	���
���('�
$����A(�� 179 84.83 32 15.17 
���	��
���	���
���(����(���8@� 280 79.32 73 20.68 
���	��
���	���
���(�

$�� 129 80.62 31 19.38 
���	��
���	���
���(���+�+ 9 22.5 31 77.5 
���	��
���	���
���(����$��
���� 115 75.16 38 24.84 
 
��������	
�+�	%&�/+�23�	��+�	%&�   

  1�	'�	��)�	%$�O��*$ 7 ��$ �����	������������/��$*%C������� 80 )�	%$�0)� 
14�$�$%$�
��)�	0)�
�6�%�) 392 ��� ������&�����.�$1�)�	%$�0)� 1.3 ������&�����.�$ -��)�	%$�0)�

�6�%�) 5 �$() ��#$%$����$  4  �$() 0)�-	� %$�$��2���2 %$�
������ %$�1�W) %$�%�(�����$ -����%$���	 
1 �$()
��0��1�)����*$����O
%$����$&.� %$�'�  -�������14�$�$%$�
�	�$()1�)�	0)�$�������.���+*$
��$���+0�  �����%$�
��)�	0)���	
��/�)&.� %$�$��2���2 (������ 60.45) !"����#$%$�
�������?��-��%�	($
���	����� 
��$64�,/,&�	 -��)���	���	3��$������
���
?���0��0)�)4��$($	���	3��$���
*$����
��%$���	%�	($ &.� ������� 17.00 ��#$��$0� !"����#$����
��������$1�$4���������
(6�*$5��
����
?���14�$�$��	1$
4�*%��������$5����/O��&����	��	����� �$.���1�	��5�����0������������
��(������ 1"�
4�*%���#$,�	�/�%���	��	����	��%�	($���%$�,)������%$�$��2���21"�
4�*%�)�	
%$�$��2���20)���	
��/�) -�������%$�
��)�	0)�
�6�%�)��#$��?������		�����?'��5"�/���
�� !"��
4�*%�%$�
��,�	�/��(��14�$�$�"6$0)��������)��3������%$��������-�������/����5��	��	0)�&��6���%������ -��
����	����6�
�������� 21 ��$ ��.����	��	-���/����5��6�
���0)�
�$
� -������������%$�
��)�	0)���	�$()
%$"��
��0��1�)����*$����O
%$����$ (������ 25.51) &.� %$�'�  ��#$/���2
��
����������� insectivore � !

��1��*$���$��.�$%�.��-!
���������(�F�,�����
7�8��-!�-!�-���,����� .��&�

����*���8
���
	��.��
���
��� & 
��?��-!�����
���	���@�,�& 
7(���D-���$�)��)����

��&@��	�����	�����(���(�
)�*+ & 
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�	��-���A �"�' 
�)*
� ���	
&�)-	*�.��7H�*����$

���D-��(����$����
������$�)��)����

 
(����� 14-15 -��O�����	�� 4)  

�
�
� 14  14�$�$-�����������%$�
��1��0)�,)�*��	��)�	%$� 14�-$	����$()-����? 

$��2���2 (%) 
������ (%) 1�W) (%) %�(�����$ (%) %$�'� (%) ��� (%) 
���'�� ������� ���'�� ������� ���'�� ������� ���'�� ������� ���'�� ������� ���'�� ������� 

82 
(20.91) 

155 
(39.54) 

14 
(3.57) 

16 
(4.08) 

5 
(1.28) 

19 
(4.85) 

1 
(.26) 

0 
(0) 

30 
(7.65) 

70 
(17.86) 

132 
(33.67) 

260 
(66.33) 

 

�
�
� 15  14�$�$%$�
��1��0)�,)�*��	��)�	%$�O��*$ 7 ��$ 14�-$	����$() 

14�$�$%$� (���) �/)/� 
��)�	 
$��2���2 
������ %$�1�W) %�(�����$ %$�'� ��� 

14�$�$%$�
/�/� (���) 

17 7.&. 2549 - - - - - - - 
18 7.&. 2549 - - - - - - - 
19 7.&. 2549 120 14 8 0 40 182 182 
20 7.&. 2549 80 9 7 1 27 124 306 
21 7.&. 2549 20 4 6 0 20 50 356 
22 7.&. 2549 10 3 3 0 8 24 380 
23 7.&. 2549 7 0 0 0 5 12 392 

��� 237 30 24 1 100 392 392 
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����
���

���
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��
��

����

��
�

 
  O�����	�� 4  	��`-/)�14�$�$%$�
��1��0)�,)�*��	��)�	%$�O��*$ 7 ��$ 

 
������0�
����2&	
��5��	�&���	
�	*
��+%&����	����������
�   

  1�		���(�&���%2�����������	������������/��$*%C���&������*$	���a��	�$-��	��
	4�1�)%$�����*$��)��/��  (Χ= 11.16, S.D. = 2.27)  (����� 16) 

�
�
� 16  &��������&�-$$  /��$��������$����Q�$-����)��&������*$	���a��	�$-��	��	4�1�)%$�  

                   ���	������������ 14�-$	��#$���)��$ (n = 400) 

  &������ 
Χ  

 

S.D. 
 

��)��&������ 
-  	���a��	�$%$� 
-  	��	4�1�)%$� 
-  	���a��	�$%$�-��	��	4�1�)%$� 

7.00 
4.15 
11.16 

1.49 
1.54 
2.27 

/�� 
��$	��� 

/�� 
   
  1�		����)&������)���-��/��5������� ������ 48.80  ���	������������
��0��������
	�����		��)�	%$�&������()U�'$��%�.����
���)($���%$� !"����14�$�$5"��	.��&�"��%$"�����	����
��������
�6�%�)  
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��������1&0�
2&	
��5��	�&���	
�	*
��+%&����	����������
�  

  1�		���(�&���%2�����������	������������/��$*%C���
�?$&�(*$	���a��	�$-��	��
	4�1�)%$�����*$��)����$	���  (Χ= 26.89, S.D. = 5.30)  (����� 17) 

�
�
� 17  &��������&�-$$  /��$��������$����Q�$-����)��
�?$&�(*$	���a��	�$-��	��	4�1�)%$� 
                   ���	������������ 14�-$	��#$���)��$ (n = 400) 


�?$&�( 
Χ  

 

S.D. 
 

��)��&������ 
-  	���a��	�$%$� 
-  	��	4�1�)%$� 
-  	���a��	�$-��	��	4�1�)%$� 

14.82 
12.06 
26.89 

3.56 
3.04 
5.30 

��$	��� 
��$	��� 
��$	��� 

 

  1�		����)
�?$&�()���-��/��5������� ������ 73.50  ���	�������������%3$���%�	
1��%$�0)�1�$4�0������
���.�$ !"����#$
�?$&�(
��0��)�*$	��	4�1�)%$�  

������	
��$
���
2&	
��5��	�&���	
�	*
��+%&����	����������
�  

  1�		���(�&���%2�����������	������������/��$*%C���	���R(���(*$	���a��	�$-��
	��	4�1�)%$�����*$��)��)�  (Χ= 11.75, S.D. = 2.94)  (����� 18) 

�
�
� 18  &��������&�-$$  /��$��������$����Q�$-����)��	���R(���(*$	���a��	�$-��	��	4�1�) 
                   %$����	������������ 14�-$	��#$���)��$ (n = 400) 

	���R(���( 
Χ  

 

S.D. 
 

��)��&������ 
-  	���a��	�$%$� 
-  	��	4�1�)%$� 
-  	���a��	�$-��	4�1�)%$� 

9.41 
2.33 
11.75 

2.07 
1.59 
2.94 

)� 
��$	��� 

)� 
   
  '�	����)	���R(���(*$	��	4�1�)%$�1�	-��/��5������� ������ 65.30 ���	����
����������	��	4�1�)%$�
�	&��6�
�����%3$%$���(���&�����.�$ !"��5.�0)������	��	4�1�)%$�0����	��
��1�

4�*%�14�$�$%$��)��0)�  �����1�		��
���%3$%$��(��'��$*%��%3$����� 1 &��6� /����5������	���20)�
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�����%$�������(���$�6$������ 20 ���  !"��
�	&�����.�$
���%3$%$�1�����	4�1�)%$�
�	&��6�1"�1���,�	�/
4�
*%�14�$�$%$��)��0)�   
 
0�
�"��6�&)7�������%�
��
	�%����
%
���
�8���%&�  ���69�
	���	
��5��	�&���	
�	*
��+%&�

���	����������
�����*
&�&%&����+�	�+�2&0���#�:�& 

  �S11��
�����(
7(����14�$�$%$�
��)�	0)�*$&�����.�$���	������������  ,)�	���(�&���%2
������	��5)5����(��%�  !"��������	����.6����$&.�  ���-���(/����������)��	����)-����������� 
(interval scale)  %�.�����������/��$  -��5�����-���(/����&��*$�������)��#$$�������%�.������
����1�)��$)��*%�-������-��$�6$��#$���-��%��$ (dummy variable)  -�����������-������$
�	&��
������-���(/����	��-1	-1�-��,&���	�(  &��&���&��)�&�.��$���&���-�����$��	��-1	-1�
-���	�(  $��$&.�	��-1	-1����1�)����+�%$.�-��*���/�$5)5������	
��	��1�)	��1���������+
�/�$5)5��  &��&���&��)�&�.��$���&���-�����$/4�%���
�	&�����&��/���	�1�������&�����#$
��	O��  %���&������	��	��1�����1�)����+ 1�������#$0�*$��	
��
��&��$����	��1�)	��1�� 0��
���	R-$�,$��%�.����-��*)+   &��&���&��)�&�.��$���&���-�����$0����&���/����$72	�$��� 
(autocorrelation)  
)/��&�����#$�(/�����&���&��)�&�.��$ )���	��$4�&��
��0)��
���	���	�g2	��
-��&����� Dubin-Watson  	4�%$)&��*	�� 2 (1.5-2.5) (	����  ���(��2��C��, 2544; ����$��� 
/(�%2�������, 2546; 1(����  ���(	��, 2547) 

  1�		��������'� �����&�� Dubin-Watson �
��	�� 1.5 /���0)����&��&���&��) 
�&�.��$���&���-�����$0����&���/����$72	�$ -����%�������-���(/��)���	�$1�����0��
&���/����$72	�$��� (multicolinearity)  
)/��&���/����$72��%�������-���(/��)���	�$ ,)�*��
�	�g2&��/�����/(
7(i/%/����$72�����2/�$  !"������0����&��/���	($ (r < 0.70) (Tabachnick & Fidell,2001)  
-��1�		���(�&���%2%�&���/����$72��%�������-���(/�� 0)�-	� ����%���1�	5������
?��� &�
�����$64� 	����� ���)/) -�����$�����%��  &������ 
�?$&�( 	���R(���(*$	���a��%$� -��&������ 

�?$&�( 	���R(���(*$	��	4�1�)%$�  )����(7�	���(�&���%2&��/�����/(
7(i/%/����$72�����2/�$ �����&��
/�����/(
7(i/%/����$72��%�������-���(/��)���	�$��&��$���	��� 0.70 !"����#$0������.��$0����	��
�(�&���%25)5����(��%� (multiple regressions analysis: MRA) (����� 19) 



 

 

51 
�
�
� 19  &��/�����/(
7(i/%/����$72�������%���1�	���$5"�-%�����%�����%$�-���v�(	���	���a��	�$-��	��	4�1�)%$����14�$�$%$�
��)�	0)�*$&�����.�$ 
                (n = 400) 

 ���-�� X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 Y 
X1 
X2 
X3 
X4 
X5 
X6 
X7 
X8 
X9 
X10 
X11 
Y 

- 
.106* 
.323** 
-.052 
.116* 
-.012 
.116* 
-.042 
-.028 
-.032 
-.088 
.624** 

 
- 

.171** 
-.008 
.048 
.001 
.007 
.008 
-.061 
-.111* 
-.038 
.258** 

 
 
- 

.068 
.155** 
.023 
.046 
.014 
-.077 
-.128 
.061 
.532** 

 
 
 
- 

.252** 
-.028 
.020 

-.183** 
.026 
-.026 
-.055 
.009 

 
 
 
 
- 

.012 
-.020 
-.116* 
-.036 
-.092 
.008 
.024** 

 
 
 
 
 
- 

.122** 

.253** 
-.008 
.277** 
.200 
.017 

 
 
 
 
 
 
- 

-.041 
-.016 
.137** 
.284** 
.101* 

 
 
 
 
 
 
 
- 

.284** 

.188** 

.176** 
.024 

 
 
 
 
 
 
 
 
- 

.067 
-.047 
.032 

 
 
 
 
 
 
 
 
 
- 

.277** 
.008 

 
 
 
 
 
 
 
 
 
 
- 

.083 

 
 
 
 
 
 
 
 
 
 
 
- 

%�
�#%��  **p < 0.01  * p< 0.05 
  X1 %���5"� ����%�����%�������$	��5������
?��� X7 %���5"�  
�?$&�(*$	���a��	�$%$� 
  X2 %���5"� ����%�����%�������$	��&������$64�  X8 %���5"�  	���R(���(*$	���a��	�$%$� 
  X3 %���5"� ����%�����%�������$	��	�����  X9 %���5"�  &��������.���	��	4�1�)%$� 
  X4 %���5"� ����%�����%�������$	�����)/)  X10 %���5"�  
�?$&�(*$	��	4�1�)%$� 
  X5 %���5"� ����%�����%�������$	�����$�����%�� X11 %���5"�  	���R(���(*$	��	4�1�)%$�   
  X6 %���5"� &��������.���	���a��	�$%$�   Y %���5"�  14�$�$%$�
��)�	0)�*$&�����.�$   
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  '�	���(�&���%25)5����(��%�-������6$��$ (stepwise multiple regressions analysis) 
����� �S11��
�����(
7(�����14�$�$%$�
��)�	0)�*$&�����.�$��)���	�$ 6  ���-��  0)�-	� ����%���1�	
&�����.�$5"�5������
?��� ����%���1�	&�����.�$5"�	����� ����%���1�	&�����.�$5"�&������$64� 
����%���1�	&�����.�$5"����$�����%�� 	���R(���(*$	���a��	�$%$� -��
�?$&�(*$	��	4�1�)%$� !"��
���-��
�6� 6 ��� 1���	�����@�����	��.����	�$

&@��	�����-!+��,+������	���
�,+���
��� 56 (R2 
= 0.56) (����� 20)  

�
�
� 20  �4�$�1	��
4�$���S11��
�����(
7(�����14�$�$%$�
��)�	0)�*$&�����.�$ 14�-$	���-��
��*��*$ 

                 	��?"	
� (n = 400)  
 

�S11�� B Beta R R2 R2 

change 
F P 

����%���1�	&�����.�$ 
5"�5������
?��� 
����%���1�	&�����.�$ 
5"�	����� 
����%���1�	&�����.�$ 
5"�&������$64� 
����%���1�	&�����.�$ 
5"����$�����%�� 
	���R(���(*$	���a��	�$
%$� 

�?$&�(*$	��	4�1�)%$� 

.90 
 

.65 
 

.44 
 

.18 
 
 

3.97E-02 
2.42E-02 

.48 
 

.34 
 

.15 
 

.09 
 
 

.08 

.08 

.62 
 

.71 
 

.72 
 

.73 
 
 

.74 

.74 

.39 
 

.51 
 

.53 
 

.53 
 
 

.54 

.56 

.39 
 

.12 
 

.02 
 

.01 
 
 

.01 

.01 

254.02 
 

98.71 
 

17.51 
 

6.51 
 
 

7.39 
5.55 

.00* 
 

.00* 
 

.00* 
 

.01* 
 
 

.00* 

.01* 
Constant = -.497, SEB = .219 

 

%����%�� : * = p < 0.05  
 
  1�	����� 20 ������S11��
�����(
7(�����14�$�$%$�
��)�	0)�*$&�����.�$��)���	�$ 6 
�S11�� !"��/����5�O(����0)�)��$�6 
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'�
$����A(����?�.���
�	�$�����L
�����)�*+ ��	���B��-$���-!������8
$���+
.��.��
 ������-!&���?�.���

����
���
+-�����(���,+�  .�+
	�����	���
��-!
���������('�
$����A(��
&��-/
���7(���,+���� &����A �"�7(	���-�������	
���
��
��� 52.75 �-!�-���	���
�
������
&��'�
$��
��A(����?�������
,����*� 30 ���� /+��������
+�
����	��?�)�	
��A�-���

����*�$

��� (7�M�>  
��&@��
�>, 2541; ���&
  ��+/�, 2530; &@���B  �������, 2527) .����
��� 54.5 $

�������	
���

+�
����	 ����������(�*�	#���	���
� 7(	����	���B���
��� 95 '�
$����A(��
��������7+-.��,���-L�
�N+  '�
$����A(���-$�����'�
��
��� 25.9 .��&��$�
���)�	
�	��������($�$��&��'�
$����A(��
,��@�&�+$

��A(�������+��B�  7(	��)�	
�	�����
&�� 17.00 - 23.24 �.&�,���-������($�$�� � !

��?�)�	
�	���-!���)�)���*!��@�$�����*8
 ����
(��(&@��	�$

'�
$����A(���-,���7-�
7
��

��*��#$�� & 
�@����'�
$����A(���-$�����'�
&��-���7��?��

$�� �@�����-/
�����?�.���

����
$

���,+�  .��)�	
�	��+�
����	��?��	���+-�	��(���

����*�$

��� &��$�
���$��
���.�+
�������
	���������	
���
�-!
������
&��'�
$����A(��,����*� 30 ���� �-/
���+�����,+�����	���������	
���
�-!
���
���
&��'�
$����A(����?�������
����	�� 30 ���� 

 �

$����?�.���

�����@���B
���
�� !
$

��� � !
�

$���-!,��,+���(���+�.���
����@�&�+���'����


���
��!@����
 &��@����������?�.���
.7��7��I�>$

���,+�
���
+-  �7�������)�
�

$�������
���
�A��.����
�����*�  (7�M�>  ��&@��
�>, 2541) &�����A �"�7(	���-�������	
���

��
��� 40 �-���	���
�
������
&���

$����?�������
,����*� 30 ���� .���������	
���
+�
����	  
��
��� 58.7 ����������(�*�	#���	���
� ����
(��(�������
+�
����	��?�)�	
��A�-���

����*�$


��� /+��O7������
�>�	�> (Brown rat) )
(
�A��.�����*�
�������

$�� 7(���
%��8
���
	��.��
���
��� (7�M�>  ��&@��
�>, 2541; ���&
  ��+/�, 2530; &@���B  �������, 2527)  .��7(	������
�>�	�>
'��+��,+�����-!��+ � !
�
+���

��(D����A �"�$

&�
�> ����� .��	*���  �+)��� (2540) �-!7(	�����
�-!+��,+���	���B���?�����
�>�	�>  &��$�
���$��
���.�+
�������	���������	
���
�-!
������
&���

$��
,����*� 30 ����  �-/
���+�����,+�����	���������	
���
�-
������
&���

$����?�������
����	�� 30 
���� .��/
����-!&�+��,+�����
�>�	�>�-����	�����)�*+
�!�   

 ����(���8@���?�.���

����.���8@��-!�@���B�����+@��
)-	*�$

���,+�  ���,���-���
�@�&�+$�����
�A"
����������(���8@������
�+
������
  �����&��$�������*�,+�  /+��O7��
���
�*!

����
�>�	�>���
�-!��-��
-�
���
	�������
  &�)
(���*������
���
����(���8@� (7�M�>  ��&@��
�>, 2541) 
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&�����A �"�7(	���-�������	
���
 ��
��� 88.25 �-���	���
�
������
&������(���8@���?�������
,����*� 
30 ���� .��7(	���������	
���
+�
����	 ��
��� 82 �-�A"
��������
��(���8@���������	���
� � !
&�
��(���
�������(���8@���A(�� .���������	
���
+�
����	��
��� 54.80 &��������(�*�	#���	���
� &��
$�
���$��
���.�+
�������	���������	
���
�-!
������
&������(���8@�,����*� 30 ���� �-/
���+�����,+�
����	���������	
���
�-!
������
&������(���8@���?�������
����	�� 30 ���� .��/
����-!&�+��,+����
�
�>�	�>�-����	�����)�*+
�!�     

 ����$��
������?��'���-!�-!�-����@�
����#> ����!

���
 ���8
���	> D���+ ���
%���)�
��������� .����
�-�A"
�����-!����
&�����$����?����&@����	�� ���,���-����@�&�+���
�N+����*+)*+
��&�������?�.���

����$

���,+�  7(	���-�������	
���
��
��� 38.25 �-���	���
�
������
&������$��

������?�������
,����*� 30 ���� �������	
���
�-!�-
�)-7���$��&��������(�*�	#���	���
�' 
��
���  
43.8  � !
��?�
�)-7�-!�-!���7(�����������-!��+  ���	���
�$

�������	
���
��
��� 78.2 �-)�

��
������
�$��-

�,+�  ��
��� 91.1 $

�������	
���
�-!�-'�
$�����&@����	���
�&��������(�*�	#���	���
� /+��-!
'�
$�����&@����	���
���	���B�,���-L��N+ (��
��� 87.5) �7*!�/
����������$��,����*�,+�
��� 
�
+���

��(�	��������	���B� 13 �� 18 �� $

�����D���@�)��)��-!����	������&����������"#>	��  
�����������	
���
����������������������������������������	��� 
!���������������"�������#���
!$
�%�������	&'�!�(����)�(�*��*+� ��
,&�����-���������	.���� *�����
#/����������,��-����������	
�����  &��$�
���$��
���.�+
�������	���������	
���
�-!
������
&������$��
����  �-/
���+�����,+�
����	���������	
���
�-
������
&������$��
������?�������
����	�� 30 ����    

 	������������/��$*%C���	���R(���(*$	���a��	�$%$�����*$��)��)�  (Χ= 9.41, S.D.  
= 2.07)  1�		��?"	
� �����&�����.�$���	������������������ 78.2 ������
��*%�%$�����-��	0)�  
4�*%�
%$�/����5����0�0)������"6$ .�������+�
����	�����'+�����,+���
��� 69.6 !"��	���a��	�$0��*%�%$�����
/����&��%�.�&�����.�$  	���V)%�.���)����
������-��	1���#$�(7�	��
��)�
��/�)*$	���a��	�$%$�-��
5��� (�%��(
����� /�,�
��7����7(���, 2527)  %�	��	���V)����
��)��	����	31�
4�*%���%$�0)�
$�����  -��	������������ ������ 65.9 �%3$)���	��	��	4�1�)�?
��%��*$&�����.�$1������a��	�$%$�
0)� 1�	������������$-/)�*%��%3$���	������������
����	���a��	�$%$�1���,�	�/*$	��)�	%$�0)� 
$���	���	������������
��0����	���a��	�$%$�  



 

 

55 

  	������������/��$*%C���
�?$&�(*$	��	4�1�)%$� ����*$��)����$	���  (Χ= 14.82, 
S.D. = 3.56)  -�������	������������/��$*%C������� 91.9 
���&��%3$���%$�O��*$&�����.�$/����5
)�	%$�0)� 	������������������ 88.8 
���&�	4�1�)%$�/����5)�	%$�0)� 	������������������ 51.9
���&�*��
	��)�	%$�/����5)�	%$�0)� ���	��	���
?���$&�%�)*%C�0)�1�)
4�,&��	���a��	�$-��	4�1�)%$�
���14��   2548 -�� 2549 -��1��$�$	��	4�1�)��		���	���a��	�$ 1"���1��#$�%��'�
��
4�*%�	����
��������/����5)�	%$�0)�  *$	��	4�1�)%$�0)���	��	4�%$)������*$	��	4�1�)%$�*%�	������$
����	��
	4�1�)%$�0)���	
��/�)  )��$�6$
�?$&�(*$	��	4�1�)%$����	������������
������10��0)��	()1�	&���
����	�����������  -�������	������������
������)��
�?$&�(*$��)��)�/����5)�	%$�0)�5"������� 82.1 
1�	������������$-/)�*%��%3$���	������������
����
�?$&�(
��)�*$	��	4�1�)%$�1���,�	�/*$	��)�	%$�
0)�$���	���	������������
����
�?$&�(
��0��)� 

   
 
 
 
 
 
 


